Integrated UG/PG Biotechnology, V Semester Examination, 2014-15
Subject Code: LBTC 504
Subject Name: Biostatistics and Computer Applications

Section 1: Answer all the questions. Fach question carries 1.0 mark. Choose one correct answer for

the following questions. (10x 1 =10)
1. One use of a regression line is 0
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i. The weight of seeds are 5. 7.8, 6 and 4 mg. The geometric mean of weight of seeds is
(b)3.9mg

it From a well-shuffled deck of 52 cards, a card is drawn at random. Find the probabifitv of getting an
ace.

(a) 1713

1v. An important application of the chi-square distribution is b
(%a) Testingfor goodness-of-fit- ‘ , M
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v. The mean of a binomial variate with parameter n and p is.

(a)ynp

vi. Which technology 1s used to produce microprocessor chips m fifth generation computer?

(ay ULSI

VI SUPErCOMpPULErs USe =-----==----=-=- technology to solve the complex problems faster.
(¢) both multiprocessing and parallel processing

viit. Decimal equivalent of binary number 11001 is ===---n-ne-
(b) 25

1x. Hexadecimal equivalent of decimal number 428 ig <=-c-—--
(a) LAC

x Which one of the following is use as a numerical data analysis tool that allows us to create a
computerized ledger?
(b) Spreadsheet
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3. A die 1s tossed once. What is the probability of getting:

(a) the number 47 (b) an even number”? (c) a number less than 57
(d) a number greater than 4? (e) a number less than §?

Answer:

The sample space associated with the random experiment of rolling a die 1s given by S = }1.2,3 456§
Total number of elementary events = 6.

(a) The probability of getting a number 4 1s 1/6.

(b) An even number is obtained, if we obtain any one of 2.4.6 as an outcome So favourable number of
elementary events = 3.

Hence required probability = 3/6 =% =05

(c) A number less than 5 is obtained, if we get any one of 1,2,3 4 as an outcome. So favourable number
of elementary events = 4.

Hence, required probability = 4/6 = 2/3.




(d) A number greater than 4 is obtained, if we get any one of 5 and 6 as an outcome. So favourable

number of elementary events = 2.

!

o

Hence, required probability = 2/6 = 1.

(e) Since every face of a die 1s marked with a number less than 8, so favourable number ol elementary

events = 6.
Hence. required probability = 6/6 = 1.

4. If the probability that an individual suffers a bad reaction {rom an injection of a given serum 1s
0001, determine the probability that out of 2000 individuals (i) exactly 3 individuals and (11) more than
2 individuals suffer from bad reaction. (Given e™ = 0.13534).
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5. In a grassland the earthworm population was sampled from ten randomly located plots of 1 m” area.
The following table gives the number of earthworms obtained. Examine the distribution pattemn of
earthworms.

lrQuadrates K 2 |3 4 5 6 7 |8 9 10 |
 Eartthworm |25 |32 (17 |23 1s 39 |27 |1 |2 20
' No./m~ | |
Answer: -

Null hypothesis (Ho): The earthworm population is distributed equally among quadrats.
Alternative hypothesis (H1): The earthworm population is not distributed equally among the quadrats.
The test statistic that will be used to test the hypothesis 1s chi-square test.

The expected number of earthworms is determined taking into consideration that the population is
equally distributed 1n all quadrates. Thus the expected number of earthworm in each quadrat 1s the
mean number of earthworms.

Observed 25 32 17 23 15 39 27 19 22 26

Expected 245 245 245 245 245 245 2435 245 2435 245

Difference 0.5 75 -7.5 -1.5 -05 14.5 25 -5.5 -2 5 1.5
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Chi-square — 18.80

The tabulated value of chi-square with d.f. 9 at p = 0.05 is 16.92. Since the tabulated value is less than
the calculated value. the null hypothesis is rejected, i.e. the earthworm population is not distributed
equally.

6. What is “generation” in computer terminology? List various computer generations along with key
characteristics of computers of each generation.

Answer- Generation in computer talk provides a framework for the growth of computer industry based
on key technologies developed. Originally it was used to distinguish between hardware technologies
but was later extended to include both hardware and software technologies.

Brief description of each generation computer along with key features is needed.
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7. Find the equivalent number of the following numbers given below as mentioned.
(1) 1011102 =7 (11) 1101010, =7 (11) 3623 ="7»
(iv) ABC =7, (v) 1O110101106: =724
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8. Hundred students of a class appear in the examination consisting of 10 subjects with each subject

having maximum marks of 100. Write an algorithm and draw a flow chart to calculate the percentage
marks obtained by each student.

A

9 What is a word-processing package? Write key features supported by modern word-processing
packages.

Answer: The term word-processing describes use of hardware and software to create. edit, view.
format, store. retrieve and print documents. A word-processing package enables us to do all these on a
computer system.

Discuss the different features of word processing package with following headings

1
11.
1.

1v.
V.
V1.
Vil

VIIL

Entering text and Editing text

Formatting page style

Formatting text (selection of font type, font size, font style, justification. creating number or
bulleted, indenting text)

Entering mathematical symbols

Displaying document

Saving, retrieving and deleting document

Printing documents, Importing text, graphics and images

Checking spelling, Checking grammar and style




